Exam 1 For Chem 1124, Fall 2011
Name %,

By submitting this£xam, I affirm that I have neither given nor received unauthorized aid

on this assignment.
You must show all work for credit. Express each answer to the correct number of signifi-

cant figures.

°C=§(°F-32) °F =§(°C)+ 32

Useful information: 1 m = 1.094 yd, .1in=254cm, 1 kg=

2.2 1bs,  mL=1cm3, 1 L=1.056qt, | mile = 1.609 km,

(1){4 points) Who is credited with the discovery of the electron and how did he do it?
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(2)(2 points) Fill in the following table

23Na+ e A/ - »/'z PRl //)

(3)(5 points) List the 5 of the base ST units and the property each one measures
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(4)(4 points) Conversions

(a) 251 miles to km &‘_)ﬂ“ﬁi- X L% - wa/'/l forn
] .

)((b) If the amount of fluid a patient receives is listed as 15 mL/kg, each day, how much fluid
should a 175 1b patient receive in a day?
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(5)(5 points) List 4 points of Dalton’s Atomic theory
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(6)(5 points) What is the volume of a 10.0 kg steel weight if steel has a density of 5.5 g/mL?
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(7)(4 points) Give and example of each

(a) acompound

(b) a heterogeneous mixture
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(8)(3 pts) Fill in the following table of electron configurations

: ]
aluminum 2 8 3
C ¢

Ve 2 8
Lithium }




(94 s

{9)(4pts) A sample contains 4.50 g of LiCL

1354 S%m
(a) How many moles of LAiCl are in the sample?
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(b) How many hthmm ions are in the sample?
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(10)(4 points) Explain 1 use of radioactivity in medicine.
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(11)(3 pts) Complete the following nuclear equations
(a) 'E‘C —> Oe + 7 l;./‘/

(b) 2iSn-—> iHe + ? 4P (f

(¢) 9¥Tc ---> Mo + ? 2
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(12)(6 points) Complete the following table
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(S, carbon disulfide

400,000 85 WL
Gaoy g e
7; Z LYo

B oafbr g S0 By
afer 49 Pars 250,00
GChr 34 gpas /’7‘5"0"%{

Gl s L5005




